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10, Which is more? (convert 1o %)
(i) 19 marks out of 38 marks or 25 marks out of 40 marks.
{ii1 12 litres out of 60 litres or 73 litres out of 365 litres.
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1. x is 40% of a and y is 60% of a. Write x + y in terms of a.
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1, The population of a village has reduced by 5% and is now 23,750 due to villagers
migrating to the neighbouring city. What was the population before?
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4. Amit secured 440 marks out of 550 and Sumit secured 507 marks out of 650. Who
performed
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5. Iuanmmjnﬁm,ashﬂmtshnuldm%tapnss.&shﬂeﬂm 145 marks and
fails by 15marks. Find the maximum marks of the exam. [Hors]

';m&@ﬁb?m Vo Suppete Mart oo et oof

-ﬁffa exXeoy = 2C
< pa gg;d? Terhg = 4o, o%
—_ f_lk_ﬂ_’ X, 2
(oo
_
=
A dint Secinon (45 sk R

el Latly by (5 arrRS
. {’ﬂ%ﬁf*‘ﬂ? M&T&‘{,: (45 +I5—
= [6o

e % =



= (/:--’-1
LS -l-_?f"
L] . 9

N, . _ |4 £

= o = 160 L%

<5 - = R00

L. ool

Mastiomumm WayKy 70 e CXeamng

Pu

- r'.-"' - J,"l;l'_ ] f_H:-

6. Mrs. Sharma saves 15% of her salary and spends the rest. If she spends T 13260, find
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7. 46% of the students in a school are girls. If there are 552 girls. find
el girls, the number of boys

ek’ L {?.,"""} i % S r-l:‘ap.f-_';.-_ ¥ néﬂ Z ‘}._{?;i_;ﬁ wil =

- 2 5 ]
- ] » F F - Kl 4
hern , No.oB- & L9t

PR L
(L; X L.V ofy 2
s = | "L:'_,"'{ll \ T

‘.‘ .1
= Al wxox¢
oo



5o
- a3 .,
5o

Rt &tvern Moo Ginda = hho_

i ‘t- F%'E'.K‘, y—= {l_g_i_..

T EBewfo_

= [f00

o f’}'tr-fdm,é "u"‘lla-.e‘f} Sw = (200

A = e -—-'gg—i’-—-
i Hgtq—é .Ke“ﬁrq, <= fi?‘?_?

e

K, hmmﬂ“%nfﬁemﬂdﬂuﬂd.lf!!ﬂmﬂdﬂ:ﬁimwm
candidates appeared for the examination and how many passed?
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9. For Diwali, a shopkeeper reduces the prices of all his goods by 15%. Babli buys a saree
from the shop for ¥ 552.50. What was the original price of the saree and how much

discount has she got? IHors]
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1. The price of a car increases from ¥ 2,25,000 to ¥ 2,56,500. What is the increase%?
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14. Mohit spends 10% of his savings on a geometry box which costs € 15. How much did
Mohit have before he bought the geometry box?
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I6. Farooq bought a new scooter for € IT‘SﬁU.hﬁumywiuvdusdeuundbylm
what is its value after one year?
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17. Rehan donated 15% of his savings to Flood Relief Fund. He distributed the remaining
amount among his two children and wife equally. If the total savings of Rehan is
¥ 1,20,000, find the amount donated to Flood Relief Fund. Also, find the amount received
by each, his wife and two children. [Hots)
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performance is better?
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IAEMERCISE 8.5,

I. A worker is paid T 595 for 7 days. How much will he eamn in 15 days?
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2. 9 buses can carry 504 people. Find :
(i) hnwmhumnmedadhm!ﬂdmph?
(ii) mhuufpuophﬂmlihnum.
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3. A truck can cover 582 km in 12 hours. Find the distance covered the truck in 26 ho
Also, find the time taken to cover 1843 km. " " o
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bags camrying 15 kg each?
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5. A bus covers 400 km and consumes 25 / of diesel. Find the cost of diesel required to
cover 1500 km if cost of 1 [ diesel is T 36.
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6. 36 strips, each containing 12 tablets cost ¥ 1512. How many tablets can be bought for
11767
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7. A labourer carns ¥ 68,250 in 13 months.
(1) How much will he earn in 19 months?
(i1} In how many months will he earn € 36,7507
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K. 4 boats can carry 92 people. Find the number of boats required to carry 207 people?
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9. A train has 22 bogies, carrying a total of 1584 passengers. The cost of the ticket per

passenger is ¥ 58. Find the total cash collection, if the number of the bogies is increased
to 25.
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10. 288 packets of biscuits, each having 12 biscuits, are packed in 9 cartons, How many such
cartons are required to pack 1920 biscuits?
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AE&ERCISE 8.6,

I. Fill up the suitable blanks in the following table :

CP (%) SP(T) | Loss(T) | Loss% | Profit (T) | Profit%

(a) 1600 1856
(b) 2700 8
(c) 1995 14
{d) 4500 25
(e) 9800 784
() 6016 6
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2, The cost price of an article is T 8,900. Find
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the selling price, if it is sold at 15% profit.




1. A television is sold for T 29,760 and a loss of 4% is incurred. What was the CP of the
television?
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- Logsd =

Sepe PR

(gu{«u f.r“"j')

_ ( leo_ \{-; 29,740

- [co—¢--
= leo, X T 29,7160
76

== -é— '_‘;;.LGF'{:

4. Sarika purchased 45 dozens of pens for ¥ 3,510. She sells 20 dozens at a profit of 15%
and the remaining for 10% loss. What is her total loss% or profit%? [Hots)
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of sweets for T 1750. Out of this, 4 kg of sweets got spoilt and so

5. Manoj buys 14 kg
for T 150 per kg. What is his loss% or profit%?
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6, A man sells
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a dining table for T 12,750, thereby

suffers a loss of 15%. At what price
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